Tabulation of Bids

	Awarded to:		rded:		Amou	nt Awarded									
	Zignego Company	04/16/22		\$2,706,028.50											
Project Manager:			-	Mat	t Messina		Consultant:	Mead	& Hunt						
State of V	Visconsin	Airport:	Ĭ		Dane County R	egional Airport	Bid Date:	3/31/							
•	ent of Transportation	Project:			Widen Ta		Bid Time:	2:00							
Bureau o	f Aeronautics	Bid for:			Dane County R	egional Airport		DBE Goals:	N	/Α					
DESCRIPTION: Base Bid - Widen Taxiway F Alternate A - Airport Crash Line Alternate B - Storm Sewer Rehabiliation Base Bid - Widen Taxiway F				Integrity Grading & Exca 605 Grossman Dr. Schofield, WI 54476	vating	Zignego Company W226 N2940 Duplainville Rd. Waukesha, WI 53186									
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
C105001	MOBILIZATION	1	LS	\$223,000.00	\$223,000.00	\$124,000.00	\$124,000.00		\$0.00		\$0.00		\$0.00		\$0.00
P501081	CONCRETE PAVEMENT - 14 INCH	5640	SY	\$101.38	\$571,783.20	\$145.00	\$817,800.00		\$0.00		\$0.00		\$0.00		\$0.00
P501082	CONCRETE PAVEMENT - 16 INCH, HIGH EARLY STRENGTH	505	SY	\$177.44	\$89,607.20	\$200.00	\$101,000.00		\$0.00		\$0.00		\$0.00		\$0.00
P501083	CONCRETE CURING FACILITY	1	LS	\$10,662.38	\$10,662.38	\$20,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00		\$0.00
NS10151	TEMPORARY LIGHTING	1	LS	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00		\$0.00		\$0.00		\$0.00		\$0.00
NS63451	TRAFFIC CONTROL	1	LS	\$60,000.00	\$60,000.00	\$170,000.00	\$170,000.00		\$0.00		\$0.00		\$0.00		\$0.00
NS63452	RUNWAY 3/21 CLOSURE	10	DAY	\$300.00	\$3,000.00	\$500.00	\$5,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X014501	CONTRACTOR QUALITY CONTROL PROGRAM	1	LS	\$17,500.00	\$17,500.00	\$40,000.00	\$40,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X024101	CONCRETE PAVEMENT REMOVAL	413	SY	\$40.00	\$16,520.00	\$5.70	\$2,354.10		\$0.00		\$0.00		\$0.00		\$0.00
X024102	ASPHALT PAVEMENT REMOVAL	4560	SY	\$3.00	\$13,680.00	\$1.55	\$7,068.00		\$0.00		\$0.00		\$0.00		\$0.00
X024103	ASPHALT PAVEMENT SAWCUT	260	LF	\$2.25	\$585.00	\$2.25	\$585.00		\$0.00		\$0.00		\$0.00		\$0.00
X024104	CONCRETE PAVEMENT SAWCUT	1700	LF	\$3.95	\$6,715.00	\$3.95	\$6,715.00		\$0.00		\$0.00		\$0.00		\$0.00
X024105	REMOVE EXISTING FLUSHING RISER	4	EA	\$450.00	\$1,800.00	\$231.00	\$924.00		\$0.00		\$0.00		\$0.00		\$0.00
X024106	REMOVE EXISTING MANHOLE	2	EA	\$450.00	\$900.00	\$520.00	\$1,040.00		\$0.00		\$0.00		\$0.00		\$0.00
X024107	REMOVE EXISTING UNDERDRAIN PIPE	650	LF	\$11.00	\$7,150.00	\$5.65	\$3,672.50		\$0.00		\$0.00		\$0.00		\$0.00
X024108	REMOVE EXISTING CONCRETE PIPE	220	LF	\$25.00	\$5,500.00	\$20.00	\$4,400.00		\$0.00		\$0.00		\$0.00		\$0.00
X024109	REMOVE EXISTING ELECTRICAL MANHOLE	2	EA	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X024110	REMOVE EXISTING CABLE AND CONDUIT	2300	LF	\$3.50	\$8,050.00	\$3.50	\$8,050.00		\$0.00		\$0.00		\$0.00		\$0.00
X024111	REMOVE GUIDANCE SIGN	2	EA	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X024112	REMOVE EXISTING PAVEMENT SENSOR CABLE	800	LF	\$3.50	\$2,800.00	\$3.50	\$2,800.00		\$0.00		\$0.00		\$0.00		\$0.00
X024113	REMOVE EXISTING TELEPHONE CABLE	350	LF	\$3.50	\$1,225.00	\$3.50	\$1,225.00		\$0.00		\$0.00		\$0.00		\$0.00
X024114	REMOVE EXISTING TAXIWAY LIGHT - BASE MOUNTED	22	EA	\$115.00	\$2,530.00	\$115.00	\$2,530.00		\$0.00		\$0.00		\$0.00		\$0.00

DESCRIP			Integrity Grading & Excav	vating	Zignego Company								
	Widen Taxiway F - Airport Crash Line		605 Grossman Dr. Schofield, WI 54476		W226 N2940 Duplainville Rd. Waukesha, WI 53186								
	- Storm Sewer Rehabiliation d - Widen Taxiway F												
Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
X070002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	13 LF	\$280.00	\$3,640.00	\$126.00	\$1,638.00	\$0.00		\$0.00		\$0.00		\$0.00
X070031	FURNISH AND INSTALL 6- INCH WATER VALVE	1 EACH	\$1,500.00	\$1,500.00	\$2,235.00	\$2,235.00	\$0.00		\$0.00		\$0.00		\$0.00
X070032	FURNISH AND INSTALL 8- INCH WATER VALVE	2 EACH	\$2,100.00	\$4,200.00	\$3,000.00	\$6,000.00	\$0.00		\$0.00		\$0.00		\$0.00
X070041	RELOCATE HYDRANT	1 EACH	\$4,800.00	\$4,800.00	\$749.90	\$749.90	\$0.00		\$0.00		\$0.00		\$0.00
X070080	CUT-IN OR CONNECT-TO EXISTING WATER SYSTEM	1 EACH	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$0.00		\$0.00		\$0.00		\$0.00
X070082	CUT OFF EXISTING WATER MAIN	1 EACH	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$0.00		\$0.00		\$0.00		\$0.00
X070101	FURNISH AND INSTALL INSULATION	2 EACH	\$1,000.00	\$2,000.00	\$220.00	\$440.00	\$0.00		\$0.00		\$0.00		\$0.00
X265601	INPAVEMENT TAXIWAY EDGE LIGHT	3 EA	\$2,075.89	\$6,227.67	\$2,076.00	\$6,228.00	\$0.00		\$0.00		\$0.00		\$0.00
X265602	NEW 3 MODULE TAXIWAY GUIDANCE SIGN	2 EA	\$5,617.78	\$11,235.56	\$5,618.00	\$11,236.00	\$0.00		\$0.00		\$0.00		\$0.00
X265603	PROPOSED ELEVATED TAXIWAY EDGE LIGHT	23 EA	\$887.26	\$20,406.98	\$888.00	\$20,424.00	\$0.00		\$0.00		\$0.00		\$0.00
X265604	#8, 5kV ELECTRICAL CABLE	2200 LF	\$1.85	\$4,070.00	\$1.85	\$4,070.00	\$0.00		\$0.00		\$0.00		\$0.00
X265605	COUNTERPOISE CABLE	1400 LF	\$1.60	\$2,240.00	\$1.60	\$2,240.00	\$0.00		\$0.00		\$0.00		\$0.00
X265606	NEW PAVEMENT SENSOR CABLE	420 LF	\$7.50	\$3,150.00	\$7.50	\$3,150.00	\$0.00		\$0.00		\$0.00		\$0.00
X310001	UNCLASSIFIED EXCAVATION	6020 CY	\$27.00	\$162,540.00	\$16.70	\$100,534.00	\$0.00		\$0.00		\$0.00		\$0.00
X310002	SUBBASE	2655 CY	\$70.00	\$185,850.00	\$31.90	\$84,694.50	\$0.00		\$0.00		\$0.00		\$0.00
X310003	SALVAGED TOPSOIL	6970 SY	\$2.50	\$17,425.00	\$3.25	\$22,652.50	\$0.00		\$0.00		\$0.00		\$0.00
X320101	REMOVE EXISTING PAVEMENT MARKINGS	1590 SF	\$3.65	\$5,803.50	\$3.65	\$5,803.50	\$0.00		\$0.00		\$0.00		\$0.00
X321101	GRADED CRUSHED AGGREGATE BASE COURSE	1700 TON	\$65.00	\$110,500.00	\$37.65	\$64,005.00	\$0.00		\$0.00		\$0.00		\$0.00
X321102	AGGREGATE BASE COURSE (SEPARATION LAYER)	2450 TON	\$56.00	\$137,200.00	\$24.55	\$60,147.50	\$0.00		\$0.00		\$0.00		\$0.00
X321103	DRAINAGE LAYER	6300 SY	\$50.00	\$315,000.00	\$50.00	\$315,000.00	\$0.00		\$0.00		\$0.00		\$0.00
X321201	PRIME COAT	2800.0 SY	\$0.25	\$700.00	\$0.25	\$700.00	\$0.00		\$0.00		\$0.00		\$0.00
X321202	TACK COAT	2800 SY	\$0.25	\$700.00	\$0.25	\$700.00	\$0.00		\$0.00		\$0.00		\$0.00
X321203	HOT-MIX ASPHALT PAVEMENT	750 TON	\$180.00	\$135,000.00	\$180.00	\$135,000.00	\$0.00		\$0.00		\$0.00		\$0.00
X321701	PAVEMENT MARKING - BLACK	4860 SF	\$4.00	\$19,440.00	\$4.00	\$19,440.00	\$0.00		\$0.00		\$0.00		\$0.00
X321702	PAVEMENT MARKING - YELLOW	3200 SF	\$4.60	\$14,720.00	\$4.60	\$14,720.00	\$0.00		\$0.00		\$0.00		\$0.00
X321703	PAVEMENT MARKING - WHITE	450 SF	\$4.60	\$2,070.00	\$4.60	\$2,070.00	\$0.00		\$0.00		\$0.00		\$0.00
X321704	PAVEMENT MARKING - RED	600 SF	\$4.55	\$2,730.00	\$4.55	\$2,730.00	\$0.00		\$0.00		\$0.00		\$0.00
X329201	SILT FENCE	1480 LF	\$3.00	\$4,440.00	\$3.00	\$4,440.00	\$0.00		\$0.00		\$0.00		\$0.00
X329202	GRASS SEED	192 LB	\$12.00	\$2,304.00	\$12.00	\$2,304.00	\$0.00		\$0.00		\$0.00		\$0.00

DESCRIP Base Bid -	PTION: - Widen Taxiway F		Integrity Grading & Excav 605 Grossman Dr.	vating	Zignego Company W226 N2940 Duplainville Ro	۲۹						î		
	A - Airport Crash Line		Schofield, WI 54476	,	Waukesha, WI 53186	а. //	1	ŗ		ľ	J	ľ		
	B - Storm Sewer Rehabiliation			!		r		!		I'		!'		
Base B	Bid - Widen Taxiway F			·'	l	r	4	/'	 	,ľ	J		 	
Bid Item	Description	Quantity Unit	t Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
X329203	TEMPORARY SEED	192 LB	\$3.00	\$576.00	\$3.00	\$576.00		\$0.00		\$0.00		\$0.00		\$0.00
X329204	FERTILIZER	13 CWT	Г \$90.00	\$1,170.00	\$100.00	\$1,300.00		\$0.00		\$0.00		\$0.00		\$0.00
X329205	HYDRO MULCH	7000 SY	\$1.00	\$7,000.00	\$1.00	\$7,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X334001	12 INCH CONCRETE PIPE - CLASS III	316 LF	\$145.00	\$45,820.00	\$70.00	\$22,120.00		\$0.00		\$0.00		\$0.00		\$0.00
X334002	NEW STORM MANHOLE w/ FRAME & GRATE	2 EA	\$8,500.00	\$17,000.00	\$3,300.00	\$6,600.00		\$0.00		\$0.00		\$0.00		\$0.00
X334601	6 INCH PERFERATED UNDERDRAIN PIPE	1360 LF	\$34.00	\$46,240.00	\$15.05	\$20,468.00		\$0.00		\$0.00		\$0.00		\$0.00
X334602	8 INCH NON-PERFERATED UNDERDRAIN PIPE	90 LF	\$39.00	\$3,510.00	\$6.00	\$540.00		\$0.00		\$0.00		\$0.00		\$0.00
X334603	POROUS BACKFILL	290 CY	\$35.00	\$10,150.00	\$50.70	\$14,703.00		\$0.00		\$0.00		\$0.00		\$0.00
X334604	UNDERDRAIN FLUSHING RISER	6 EA	\$2,700.00	\$16,200.00	\$801.00	\$4,806.00		\$0.00		\$0.00		\$0.00		\$0.00
X334605	UNDERDRAIN DRAINAGE FABRIC LOCATE AND PROTECT	1500 SY	\$1.65	\$2,475.00	\$2.60	\$3,900.00		\$0.00		\$0.00		\$0.00		\$0.00
X337101	EXISTING CABLES & UTILITIES	1 LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		\$0.00		\$0.00		\$0.00		\$0.00
X337102	NEW ELECTRICAL MANHOLE	2 EA	\$14,000.00	\$28,000.00	\$14,000.00	\$28,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X337103	2 INCH - 1 WAY CONDUIT	1650 LF	\$12.50	\$20,625.00	\$12.50	\$20,625.00		\$0.00		\$0.00		\$0.00		\$0.00
X337104	2 INCH - 1 WAY CONDUIT - CONCRETE ENCASED	2000 LF	\$22.50	\$45,000.00	\$22.50	\$45,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X337106	4 INCH - 4 WAY CONDUIT - CONCRETE ENCASED	210 LF	\$110.00	\$23,100.00	\$110.00	\$23,100.00		\$0.00		\$0.00		\$0.00		\$0.00
618.01	OF HAUL ROADS	1 LS	\$500.00	\$500.00	\$20,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00		\$0.00
628.1905	CONTROL	2 EACH	H \$500.00	\$1,000.00	\$500.00	\$1,000.00		\$0.00		\$0.00		\$0.00		\$0.00
628.191	MOBILIZATION EMERGENCY EROSION CONTROL	2 EACH	H \$200.00	\$400.00	\$200.00	\$400.00		\$0.00		\$0.00		\$0.00		\$0.00
642.5201	FIELD OFFICE, TYPE C	1 EACH	H \$4,400.00	\$4,400.00	\$20,000.00	\$20,000.00		\$0.00		\$0.00		\$0.00		\$0.00
	.0' HANDWASHING STATION	4 MON	N \$100.00	\$400.00		\$2,000.00		\$0.00		\$0.00		\$0.00		\$0.00
Base Bid			<u> </u>	\$2,519,966.49	<u> </u>	\$2,475,953.50		\$0.00	<u> </u>	\$0.00	<u> </u>	\$0.00	<u> </u>	\$0.00
	ate A - Airport Crash Line Description	e Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Did item		Quantity Offic	Onicifice	10tai)	Onicifice	10181		Total		Total	Unit Thee	Total	Onit Trice	

Bid Item	Description	Quantity Unit	Unit Price	Total	Unit Price	Total	Unit Price Total	Unit Price Total	Unit Price Total	Unit Price Total
X024113	REMOVE EXISTING TELEPHONE CABLE	350 LF	\$3.50	\$1,225.00	\$3.50	\$1,225.00	\$0.00	\$0.00	\$0.00	\$0.00
X270001	12 STRAND SINGLE MODE FIBER	550 LF	\$4.50	\$2,475.00	\$4.50	\$2,475.00	\$0.00	\$0.00	\$0.00	\$0.00
X275101	EMERGENCY COMMUNICATIONS SYSTEM	1 LS	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$0.00	\$0.00	\$0.00	\$0.00
X337103	2 INCH - 1 WAY CONDUIT	2050 LF	\$12.50	\$25,625.00	\$12.50	\$25,625.00	\$0.00	\$0.00	\$0.00	\$0.00
X337105	DIRECTIONAL BORING	875 LF	\$30.00	\$26,250.00	\$30.00	\$26,250.00	\$0.00	\$0.00	\$0.00	\$0.00
X337107	NEW TELECOM HANDHOLE	2 EACH	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$0.00	\$0.00	\$0.00	\$0.00
X338202	24 STRAND OUTDOOR SINGLE MODE FIBER	3000 LF	\$6.50	\$19,500.00	\$6.50	\$19,500.00	\$0.00	\$0.00	\$0.00	\$0.00
Alternate A Total				\$230,075.00		\$230,075.00	\$0.00	\$0.00	\$0.00	\$0.00

Alternate B - Storm Sewer Rehabiliation Work

Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
X329201	SILT FENCE	1020	LF	\$3.00	\$3,060.00	\$1,000.00	\$1,020,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330101	STORM SEWER CLEANING 12" DIAMETER	1784	LF	\$60.00	\$107,040.00	\$1,000.00	\$1,784,000.00		\$0.00		\$0.00		\$0.00		\$0.00

Base Bid - Alternate A	DESCRIPTION: Base Bid - Widen Taxiway F Alternate A - Airport Crash Line Alternate B - Storm Sewer Rehabiliation			605 Grossman Dr.		Zignego Company W226 N2940 Duplainville Rd. Waukesha, WI 53186									
	3 - Storm Sewer Rehabiliation id - Widen Taxiway F		-+												
Bid Item	Description	Quantity U	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
X330102	STORM SEWER CLEANING 15" DIAMETER	283	LF	\$60.00	\$16,980.00	\$1,000.00	\$283,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330103	STORM SEWER CLEANING 18" DIAMETER	590 I	LF	\$60.00	\$35,400.00	\$1,000.00	\$590,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330104	STORM SEWER CLEANING 24" DIAMETER	2298	LF	\$60.00	\$137,880.00	\$1,000.00	\$2,298,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330105	STORM SEWER CLEANING 30" DIAMETER	72	LF	\$60.00	\$4,320.00	\$1,000.00	\$72,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330106	STORM SEWER CLEANING 36" DIAMETER	85	LF	\$60.00	\$5,100.00	\$1,000.00	\$85,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330107	STORM SEWER CLEANING 72" DIAMETER	96	LF	\$60.00	\$5,760.00	\$1,000.00	\$96,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330108	STORM SEWER CIPP 12" DIAMETER	1784	LF	\$175.00	\$312,200.00	\$1,000.00	\$1,784,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330109	STORM SEWER CIPP 15" DIAMETER	283	LF	\$200.00	\$56,600.00	\$1,000.00	\$283,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330110	STORM SEWER CIPP 18" DIAMETER	590	LF	\$200.00	\$118,000.00	\$1,000.00	\$590,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330111	STORM SEWER CIPP 24" DIAMETER	2298	LF	\$270.00	\$620,460.00	\$1,000.00	\$2,298,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330112	STORM SEWER CIPP 30" DIAMETER	72	LF	\$700.00	\$50,400.00	\$1,000.00	\$72,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330113	STORM SEWER MECHANICAL JOINT SEAL 36" DIAMETER	' 15 I	EA	\$10,000.00	\$150,000.00	\$100,000.00	\$1,500,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330114	STORM SEWER MECHANICAL JOINT SEAL 72" DIAMETER	' 11 6	EA	\$15,000.00	\$165,000.00	\$100,000.00	\$1,100,000.00		\$0.00		\$0.00		\$0.00		\$0.00
X330115	REINSTATING LATERALS	8 6	EA	\$1,000.00	\$8,000.00	\$100,000.00	\$800,000.00		\$0.00		\$0.00		\$0.00		\$0.00
Alternat	te B Total				\$1,796,200.00		\$14,655,000.00		\$0.00		\$0.00		\$0.00		\$0.00
	Base Bid Total =				\$2,519,966.49		\$2,475,953.50		\$0.00		\$0.00		\$0.00		\$0.00
	Alternate A =				\$230,075.00		\$230,075.00		\$0.00		\$0.00		\$0.00		\$0.00
	Alternate B = Grand Total =				\$1,796,200.00 \$4,546,241.49		\$14,655,000.00 \$17,361,028.50		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00		\$0.00 \$0.00
	Award Project =				\$4,546,241.49		\$17,361,028.50		\$0.00		\$0.00		\$0.00		\$0.00